
Maths Transition Year 3 to Year 4 Answers

Place Value Puzzle
The mystery number is .

Calculation Course

296

Add 5

Multiply by 8 

Subtract 60 

Add 300 

Subtract 64 

Add 300

Subtract 87

William’s new number + 
Louise’s new number 

Louise’s 
starting number: 

     8 × 8 = 

William’s 
starting number: 

  4 × 9 = 36 64

69

552

492

336

249
792

728

728 + 249 = 977
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Maths Transition Year 3 to Year 4 Answers

Fraction Flags
Shade each flag using the given fractions. 

 

1
10 + 2

10 = green 7
10 - 

3
10 = yellow

1
6  + 2

6  = green 5
6  - 4

6  = yellow

1
8  + 2

8  = blue 7
8  - 3

8  = yellow

2
3  - 1

3  = green 5
6  - 4

6  = red

1
5  + 2

5  = green 3
10 - 

1
10 = yellow

2
2  - 1

2  = red 3
4  - 2

4  = yellow

The rest will be blue. The rest will be white.

The rest will be blue.

The rest will be green.

The rest will be yellow.

The rest will be red.
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